THE GREAT BARRIER REEF IS IN TROUBLE

1. Which sentence most closely represents

what President Obama says?

a) He feels uniquely privileged to have
visited the Great Barrier Reef.

b) He wishes everybody could experience
the Great Barrier Reef.

¢) He doesn’t want to think about the
possibility of the Great Barrier Reef
disappearing.

2. David Attenborough says diving with
tanks on a coral reef makes it ... to
change direction.

a) problematic
b) unwise
c) easy

3. He says it will be ‘death to many of the corals’ if the ocean becomes ... acidic.
a) all the more
b) more and more
¢) warmer and more

4.Professor Hoegh-Guldberg says that coral provides a habitat 1.
for ... species.
a) several 2

b) quite a lot of
c) a very large number of

3.
5. David Attenborough thinks the results of changes in the coral
reef will be...
a) noticed by future generations. 4.
b) visible in his lifetime.
c) observed in the next ten years. 5.
6. What, in his opinion, needs to be slowed down? 6

a) the disappearance of coral
b) exploitation of the oceans
¢) carbon dioxide emissions
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